

$$\int \frac{\ln x}{\sqrt{x}} dx = \int \frac{1}{\sqrt{x}} \cdot \ln x dx = \left| \begin{array}{l} u = \ln x \quad v' = \frac{1}{\sqrt{x}} = x^{-\frac{1}{2}} \\ u' = \frac{1}{x} \quad v = \frac{x^{-\frac{1}{2}+1}}{-\frac{1}{2}} = -2\sqrt{x} \end{array} \right| \int u'v dx = \int \frac{1}{x} \cdot (-2\sqrt{x}) dx = -2\sqrt{x} \ln x - 2 \int \frac{1}{\sqrt{x}} dx = -2\sqrt{x} \ln x - 2 \cdot 2\sqrt{x} + C = -2\sqrt{x}(\ln x + 2) + C$$

$$\int (2x^2 + 3x + 1) \sin x dx = \left| \begin{array}{l} u = 2x^2 + 3x + 1 \quad v' = \sin x \\ u' = 4x + 3 \quad v = -\cos x \end{array} \right| \int u'v dx = \int (4x+3) \cos x dx = \left| \begin{array}{l} u = 4x+3 \quad v' = \cos x \\ u' = 4 \quad v = \sin x \end{array} \right| \int u'v dx = \int 4 \cos x dx = 4 \sin x + C$$

$$\int (2x^2 + 3x + 1) \sin x dx = (2x^2 + 3x + 1) \cdot (-\cos x) + \int (4x+3) \cos x dx = -\cos x \int (2x^2 + 3x + 1) dx + \int (4x+3) \cos x dx = -\cos x \left(\frac{2x^3}{3} + \frac{3x^2}{2} + x \right) + 4 \sin x + C = -\frac{2}{3}x^3 \cos x - \frac{3}{2}x^2 \cos x - x \cos x + 4 \sin x + C$$

$$\int (4x^3 + 3x^2 + 2x + 1) \ln x dx = \left| \begin{array}{l} u = \ln x \quad v' = 4x^3 + 3x^2 + 2x + 1 \\ u' = \frac{1}{x} \quad v = \frac{4x^4}{4} + \frac{3x^3}{3} + \frac{2x^2}{2} + x = x^4 + x^3 + x^2 + x \end{array} \right| \int u'v dx = \int \frac{1}{x} (x^4 + x^3 + x^2 + x) dx = \int (x^3 + x^2 + x + 1) dx = \frac{x^4}{4} + \frac{x^3}{3} + \frac{x^2}{2} + x + C$$

$$\int e^{kx} dx = \frac{e^{kx}}{k} + C$$

$$\int \cos kx dx = \frac{\sin kx}{k} + C$$

$$\int \sin kx dx = -\frac{\cos kx}{k} + C$$

$$\int (4x+3) e^{4x} dx = \left| \begin{array}{l} u = 4x+3 \quad v' = e^{4x} \\ u' = 4 \quad v = \frac{e^{4x}}{4} \end{array} \right| \int u'v dx = \int 4 \cdot \frac{e^{4x}}{4} dx = \int e^{4x} dx = \frac{e^{4x}}{4} + C$$

$$\int (7-3x) \cos 5x dx = \left| \begin{array}{l} u = 7-3x \quad v' = \cos 5x \\ u' = -3 \quad v = \frac{\sin 5x}{5} \end{array} \right| \int u'v dx = \int -3 \cdot \frac{\sin 5x}{5} dx = -\frac{3}{5} \int \sin 5x dx = -\frac{3}{5} \left(-\frac{\cos 5x}{5} \right) + C = \frac{3}{25} \cos 5x + C$$

ROZKLAD NA PARCIAŁNE

$$\int \frac{x-3}{x^2-3x^2+5x^2+2} dx = \int \left(\frac{1}{x-1} - \frac{1}{(x-1)^2} - \frac{x-1}{x^2-x+2} \right) dx$$

$$\int \frac{1}{x-1} dx = \ln|x-1| + C$$

$$\int \frac{1}{(x-1)^2} dx = \int z^{-2} dz = -z^{-1} + C = -\frac{1}{x-1} + C$$

$$\int \frac{x-1}{x^2-x+2} dx = \int \frac{2x-2}{2(x^2-x+2)} dx = \frac{1}{2} \int \frac{2x-2}{x^2-x+2} dx = \frac{1}{2} \left(\int \frac{2x-1}{x^2-x+2} dx - \int \frac{1}{x^2-x+2} dx \right)$$

$$\int \frac{1}{x \pm a} dx = \ln|x \pm a| + C$$

$$\int \frac{1}{x^2 - a^2} dx = \frac{1}{2a} \ln \left| \frac{x-a}{x+a} \right| + C$$

$$\int \frac{2x-1}{x^2-x+2} dx = \int \frac{2x-1}{(x-\frac{1}{2})^2 + \frac{7}{4}} dx = \int \frac{2(x-\frac{1}{2}) + \frac{1}{2}}{(x-\frac{1}{2})^2 + \frac{7}{4}} dx = \int \frac{2(x-\frac{1}{2})}{(x-\frac{1}{2})^2 + \frac{7}{4}} dx + \int \frac{\frac{1}{2}}{(x-\frac{1}{2})^2 + \frac{7}{4}} dx = \ln|x^2-x+2| + \frac{1}{\sqrt{7}} \arctan \frac{2x-1}{\sqrt{7}} + C$$

MEHĄ REZULTATU

$$\int \frac{1}{x^2-x+2} dx = \int \frac{1}{(x-\frac{1}{2})^2 + \frac{7}{4}} dx = \frac{1}{\sqrt{7}} \arctan \frac{2x-1}{\sqrt{7}} + C$$

$(a \pm b)^2 = a^2 \pm 2ab + b^2$
$a = x \quad 2ab = -1$
$b = -\frac{1}{2} \quad 2xb = -1$